1. 6590 o8 AL S8 A FobA o,

5 J=X
=%



@ (8, 41) ® (8, 73)

@® (4, 15)

® (6, 50)

@ (9, 81)



3. 18730 o) AhBOF4E Tojelel.






B!

.

Ul



Ale.

0|

£ Zediz A

<
olJ
mK
S

Far

AN

—_

Jas




27
o1

b~ o

<t ho

[a\ N Kael



@ 10 ® 30 @ 6 ® 12

@ 8






10. Ha& AXSAL.

9 36

23 23 23 17
- - 1522 15—
@736 @836 ©) 535 @ 5F






12.

ofel BAPAD ] Wol S T5HA S,

10cm

~4cm”

cm



13. =39 HolE 3.




14. 1359} 189 9] FoF42] gh& oA L.

5 Rog
3%



15. 3, 6, 99| HAFHFE TS 2.

o e



ol| % 49 HAF 47t 169 o, ]

SkE

SkE

kR

kR

T 2ol FHj4s & 100 Bt



ol

74

<|m
X

)|




A Ao | Bt

ke
=
AU

18. o




112
144" 144

60

(o, O) = (

0| o

57M

7,957H

77U7,,9

e ©

~ o o
o | S |3

@ @



Y7t

SH
H

7V A sob

oju
K
A+
)

ol
o

© 22712 Wy
@ ZR717 Wy

ol
i
iz

Ho



21.

Oa= Al 2.

12 42
7 5

5 21 19 22

© 435 @8 ® 25, @ 652

22
35




22. HZ< AxtsHAlL.




23.

om Y72

cm

, Wol7} 176 cm?

iy

=

ofl,

_C_q



24.

Al Holg ot #P Y Sof
A= A=V K

_5cm- o

-

"~-8cm---
(D+8)x@+2=0x®+2=0B(cm?)

-

® 52




25. o= =99 Holg AL,




